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1-: The ladyfinger is in colour. 5- Which vegetable is shown in the picture?

100 Cucumber 2010 Carrot
100 red 200 green 300 Chilli 410 Peas
300 blue 4710 orange 6- Which of these is a vegetable?
2-: What is red in colour? 1 2

100 Brinjal 2000 Tomato @ ’
300 Spinach 410 Cabbage
3- Name the vegetable. ’l @

100 1 200 2
3003 410 4

7- Which vegetable is shown in the picture?

100 Potato 200 Peas

3010 Capsicum 410 Cauliflower

4- Name the vegetable shown. 100 Ladyfinger 200 Brinjal

300 Spinach 4710 Onion

8- Name the vegetable shown in the picture.

100 Turnip

2010 Cabbage 100 Spinach 200 Cabbage
300 Pumpkin 3010 Cauliflower 400 Ladyfinger
40 Ginger
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1- Which word shows the combination of 'VCV'? 6- What do you see in the given picture?
100 nodded 200 lemon
300 mug 400 jug

2- Which word does not show the combination of

'VCC'?

100 act 2010 art

300 planet 4110 egg

3- : Which word does not show the combination 100 hen 200 fan
of 'VC'? 300 pig 4710 rat
100 pet 2010 visit 7- Complete the word with an appropriate
300 mug 4710 tub vowel. le_ f.

4- Which of the following combinations is the
word 'limit' made of?

100 VC 2010 CVC

300 VCV 400 None of the above

5- What do you see in the given picture? org |

470 u

8- Fill in the blank: The object in the given

picture is a 'gi_".

100 duck

2010 dog

300 fan 100 ft 200 st

410 mug 300 gh studywithrsm.com 400 ht




studywithrsm.com

studywithrsm.com

Wik d

BT -5 fao=r . MATH

Rremeff &1 a9 -

o7 X - WCTBIA TFod WP [REuD, ST, BB (SCTHD) FWUST ey 51 (18-24 R 2021 {&@ws 10))

1- 3020 #Hrex =

100 30 fpeleiey 20 #ex

200 300 fFe#eY 20 #ex

300 3 frelidAey 20 #Aiex

410 3000 Rreltefex 2 #ex

2- fhael #Hiex e T fhaiey aara g2

100 100 200 1000
300 10000

3- & Y Fag A HeX #H deferw: 17 fheeex
450 HeX = _ A

100 17450 2110 17.450
300 170 4110 521

4- 109 fFredAey A fordar #Aex 72

200 109000 #Hrex

100 10900 Hrex
300 1090 #Hrex
5- S&r & oldlg A & ford 3T fhd 1 &t
STaT har?

6- Ty I Vel TR &1 Fu1e A & oy oS
AT T 3UGF Shls I el |

= [

D s

i
%
X
%
%
%
X
x\
XK

100 #Hrex 200 frerHreT

300 HEHR 400 Ao

7- el gl T ETS AN & o 39T KT sHS
FT T FIAT?

100 fereieeT
300 #rex 4110 TEHEeT

8- fory 3 R its oy ol 450 ¥

200 freadex
4110 TEEHEeT

studywithrsm.com




studywithrsm.com

studywithrsm.com

Wik d

BT -5 fere=r : ENGLISH Rreneff &1 = -

T FH - FUCTBIA Fea TRHE [Ensr, XU, DD (SR FNISE Qs 51 (18-24 B, 2021 {(Xwws 10))

1- Which word shows the combination of 'VCV'?
100 nodded 2010 lemon 6- What do you see in the given picture?
300 mug 400 jug

2- Which word does not show the combination of

'VCC'?
100 act 200 art
300 planet 4110 egg

3- : Which word does not show the combination

of 'VC'? 100 hen 2010 fan
100 pet 2010 visit 310 pig 4010 rat

300 mug 4010 tub 7- Complete the word with an appropriate

vowel. le_ f.
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4- Which of the following combinations is the
word 'limit' made of?
100 VC 200 CVC

)
Ve
S
300 VGOV 40 None of the above «d

5- What do you see in the given picture?

300 o 4000 u
8- Fill in the blank: The object in the given

picture is a 'gi_".

100 duck
2010 dog
300 fan 100 ft 2000 st
470 mud 300 gh studywithrsm.com 410 ht
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